
 

Start 
 

1.   32+_=57 

5.    Partition 97 

into tens and 

ones 

 

3.  14+15=22+_ 

4.     Use the 

partitioning 

method for 

42+37= 

2.   Timothy has 26 

books. He buys 31 

more. How many 

does he have? 

 

6. 34+47= 

7. There are 51 pencils 

in the draw. 36 more 

are put in. How many 

pencils are there? 

8.  Raven has 26 chocolate 

buttons, she is given 35 

more. How many chocolate 

buttons does she have? 

9.   Coco has 27 
books, Chad gives 
her 36 more. How 
many books does 

Coco have? 
 

10. 

39+34= 

 

11. 31+__= 67 

12.  

21+_=14+19 

13.  Alexis has 46 

flowers. Her 

mum gives her 32 

more. How many 

flowers does 

Alexis have? 

14.   Jamall has a farm. The 

farm has 27 pigs, 29 

sheep and 38 ducks. How 

many pigs and ducks are 

in Jamall’s farm? 

Go back to 

the 

beginning 


